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QUESTION 1

Refer to the exhibit. Which two configuration leaves in this YANG model are optional? (Choose two.) 

A. last-change 

B. oper-status 

C. type 

D. enabled 

E. mtu 

Correct Answer: AE 

 

QUESTION 2

What are two advantages of using Python virtual environments? (Choose two.) 
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A. They allow for multiple Python projects to use different versions of the same dependency without conflict. 

B. They allow multiple Python applications to share virtual memory between subprocesses. 

C. They allow for isolated environments where each can use a different version of Python. 

D. They allow for all Python projects to utilize the same set of shared dependencies. 

E. They allow for multiple virtual machines to share a single Python environment. 

Correct Answer: AC 

 

QUESTION 3

Which two Python libraries are used to write a script to retrieve network device information using RESTCONF? (Choose
two.) 

A. PySNMP 

B. requests 

C. ncclient 

D. YANG 

E. json 

Correct Answer: BE 

 

QUESTION 4

When using Cisco YDK, which syntax configures the BGP ASN using OpenConfig BGP? 

A. bgp.config.as_ = 65000 

B. bgp.global_.config.as = 65000 

C. bgp.global.config.as_ = 65000 

D. bgp.global_.config.as_ = 65000 

Correct Answer: D 

Reference: https://www.ciscolive.com/c/dam/r/ciscolive/emea/docs/2019/pdf/BRKNMS-2032.pdf 

 

QUESTION 5

Which statement describes an asynchronous API communication? 

A. Asynchronous communication waits for a response. 
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B. Synchronous communication is with a central orchestrator. 

C. It is not necessary to wait for availability of a resource. 

D. An application can freeze if there is no response from a request. 

Correct Answer: C 
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